@

2~
T

v

f(x) =8x =54 £(1) + f(2) & g2 F3tofzt.

L



A Aa, b) 7t HH0] obd x F Aol A& W, = T L2 A2?

®a=0,b=0 @ a=0,b%£0 ® a0, b=0

@ a+0,b#0 ® a=20,b=0



@ A (-2,-2)2 Al 2AREH ] Holt,
@ A (0,1)2 xZ Yo Holt.

@ A (2,3) % x5l thsto] A H-2 (2,-3) It
@ A (2,3) % Lol diste] A A2 (3,2) °lth
© A (

a.b) 7 A 2427 0] MOl A (b,a) = A 3AHER



ot % x9] ghol &

4.




® -4

yl




A
ail

1

%o

gt el 50

@
@

Fol x4 o] AL y goltt.

17Fyem?Q

Hol xem, =©

ol
| =

@ AA5 xo] 5o e A%

® A59] Lol7} xQ)

o] =9 Aol yolt.

2



7.

AEBW 919 7 A(2.0),B(-4,0),0(0,3) & T3

ABC 9] Ho]=?

@ 6 @7 ® 9 @ 10



H A(ab, a-b)7F Al 3AFEZR S Hd W, vh5 & Al 4AHEH 919
09
= W

® B(b-a, b) @ C(a, b) ® D(ab, 0)
@ E(-ab, a) ® F(0, 0)



Slofl ek [ gkl

o JE=

7
=-—-x

3

(12, [ )=y

]
™

9.

?

i

@ 28 ® -14 @ 14

O -28



10.

ey = e o A A9 £ A (0 -1 ). (-8.5)% 4 0. -13)

BAHOR Sh= A2 0] ol & atelet



11, e 2 g2y = —28 o qapm 919] o] opd A9
X

@ (6, -3) @ (-2,9) ® (-18, 1)
@ (1, -9) ® (-6, 3)



i el " A, B, C DY
3|
=

A%
x+y2o gol 5

12.



13.

ey =ax o 2ejm7} ohe 2t 2L
AL W, a o] Fe] W9l e AL

PN oot

Aty y=x
B@sy=2x
o=y =-3x

!

T4 A 2 B Afolo] 9]
ax 7t @4 A 2 B Apole] 9]
ax 7t @4 B 9+ C Atolo] 9]
@4 B 9k C Atolo] 9]

ax 7 % A 2 C Apolef 9]

o

~<
I
S
=
N
-

=
filo

<
I
o

ek

<
|
IS}
=
N
-

fijo

2

© ® © ® ©
e
S G
~
Il

o

<
I

yl\
y=—3z =2z
Y=z
O z
‘1< <1
- =<a
2
l<a<?2
t0<a<?2
. -3<ax<0
l<a<3



14. o a9 g, b, ¢, dgrol A THe

o o
T &4 g2 A2

@ a<c @ d<b
® axc<d @ a+d<b+c

® b-d<c-a

\
y‘ y=axr
d_ ------- I
8f - |
! 1
af - |
/i Ly=b
oy ! £z
2 C z




15.

Zh £317t 4.5km & o £ o =57
£ wj7hA] 2§ et ZlehEof st ot

ofzt.

B
:

Mz

2

Y4 =3

10 /

8 /

6 Zl

Y|

ol /.

Ol 12345¢ ;c’
[7HE)




